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QUESTION NO: 1

With which option can the Cisco Application Policy Infrastructure Controller be configured?
A. With the Cisco UCS Manager GUI

B. With a service level agreement

C. With the Cisco UCS Central interface

D. With the application programming interface

E. With the CLI

ANSWER: E

QUESTION NO: 2

Which three statements about a Cisco ACI Layer 3 connection to an external network are true? (Choose three.)
A. The Cisco ACI fabric is considered a transit network.

B. Routes learned from the outside are redistributed into I1SIS.

C. Routes learned from the outside are redistributed into MP-BGP.

D. A leaf switch can peer with an external router.

E. A leaf switch cannot peer with an external router.

F. The Cisco ACI fabric is intended to be a stub network.

ANSWER: CDF

QUESTION NO: 3

What does the role-based access control in the Cisco Application Policy Infrastructure Controller provide?
A. RBAC is not supported in Cisco ACL

B. File system separation

C. The distributed database

D. Per-tenant admin separation

ANSWER: D
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QUESTION NO: 4

What is a Cisco AClI VMM?
A. Virtual Machine Mobility
B. Virtual Machine Controller
C. Virtual Machine Monitor

D. Virtual Machine Manager

ANSWER: D

QUESTION NO: 5

In which two ways can Layer 4 to Layer 7 services be integrated with Cisco ACI? (Choose two.)

A. A Layer 4 to Layer 7 appliance can program the Cisco APIC.

B. The Cisco APIC controls and automatically configures Layer 4 to Layer 7 services via device packages
C. Using traditional VLAN/VREF stitching.

D. The Cisco APIC does not integrate with third-party appliances.

ANSWER: AB

QUESTION NO: 6

Which Cisco Application Centric Infrastructure component is responsible for policy instantiation?
A. Database tier

B. Logical model

C. Leaf

D. Application network profile

E. Application tier

F. Controller

ANSWER: D

QUESTION NO: 7
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Which three authentication protocols can be configured in the Cisco Application Policy Infrastructure Controller? (Choose
three.)

A. CHAP

B. EAP

C. TACACS+
D. RADIUS

E. Kerberos
F. DIAMETER
G. LDAP

ANSWER:CD G

QUESTION NO: 8

Which two statements about endpoints that are inside the fabric are true? (Choose two )
A. The location is found via the proxy mapping database.
B. The forwarding policy is defined by the IP routing table

C. The forwarding policy is defined by contracts between EPGs.

ANSWER: AC

QUESTION NO: 9

What do atomic counters do?

A. Count the number of leaves a flow uses
B. Count the number of ports used

C. Count the amount of time passed

D. Count the number of packets received

ANSWER: D

QUESTION NO: 10

Which two statements about connecting the Cisco ACI fabric to an outside Layer 2 network are true? (Choose two)
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A. The BPDU frame is flooded within a bridge domain.

B. Policy must be created to allow BPDU frames to be flooded within an EPG
C. The BPDU frame is not flooded within an EPG.

D. The BPDU frame is automatically flooded within an EPG.

E. The Cisco ACI fabric does not run the Spanning Tree Protocol.

F. The Cisco ACI fabric runs the Spanning Tree Protocol.

ANSWER: ADE
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